Ch\ N3yyeHne npoLeHTHOrO YBEJIMYCHUS U YMEHbIICHUT  Mwmst:

Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panbliie xuia B 15 KHIOMETpax OT IKOJIbI, HO TIOCIIE TIEPEe3/ia OHA TEMePh
uBeT B 13,2 kunomerpax ot mkoussl. OHa Ha MIPOILIEHTOB OJIMXKE K IIKOJIE. L.
2.
2) B npouwom mecsane {BVAR} norparun Ha urpsl 58 nosnapos. B stom Mecsie on
notpatui Bcero § 51,04. B aTom mMecsiiie oH NOTpaTuil Ha MPOIIEHTOB MEHBIIIE. 3.
4.
3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 5.
percent more chocolate.
6.
4) {GVAR} xynun komnbrorep 3a § 222,6. {BVAR} kynun oaus 3a 318. Komnbrorep
{GVAR} 6bu1 Ha IIPOLIEHTOB JICIIEBIIE. 7.
8.
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 9.
10.
6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.
7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.
8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.
9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?
10) B npornwioM rojy JUIEH3Ms Ha phIOHYO 0B cToma 50. B aToM rojy snuiensus Gyger
ctouTh 30 10IapOB. ITO YMEHBIIICHUE Ha MPOLEHTOB.
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Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panbliie xuia B 15 KHIOMETpax OT IKOJIbI, HO TIOCIIE TIEPEe3/ia OHA TEMePh
uBeT B 13,2 kunomerpax ot mkoussl. OHa Ha MIPOILIEHTOB OJIMXKE K IIKOJIE. L. 12
2. 12
2) B npouwom mecsane {BVAR} norparun Ha urpsl 58 nosnapos. B stom Mecsie on
notpatui Bcero § 51,04. B aTom mMecsiiie oH NOTpaTuil Ha MPOIIEHTOB MEHBIIIE. 3. 34
4. 30
3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 5. 16
percent more chocolate.
6. 48
4) {GVAR} xynun komnbrorep 3a § 222,6. {BVAR} kynun oaus 3a 318. Komnbrorep
{GVAR} 6bu1 Ha IIPOLIEHTOB JICIIEBIIE. 7. 12
8. 20
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 9. 42
10, 40
6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.
7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.
8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.
9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?
10) B npornwioM rojy JUIEH3Ms Ha phIOHYO 0B cToma 50. B aToM rojy snuiensus Gyger
ctouTh 30 10IapOB. ITO YMEHBIIICHUE Ha MPOLEHTOB.
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1) {GVAR} panbuie xu1a B 15 KAIOMETpax OT MIKOJIBI, HO MOCJIE TIEPEE3/]a OHA TENEPD

xuBET B 13,2 kuiomMerpax ot mkosbl. OHa Ha IIPOLIEHTOB OJIMIKE K LIKOJIE. >
3.
2) B npouuiom mecsie {BVAR} norparui Ha urpsl 58 nosutapos. B atom Mecsie on
notpatui Beero § 51,04. B aTtom Mecsiie oH moTpaTui Ha MPOLEHTOB MEHBLIE. 4.
5.

3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 6.

percent more chocolate.

7.
4) {GVAR} xynui kommsrotep 3a § 222,6. {BVAR} kynun oqun 3a 318. Kommbrorep
{GVAR} Obu1 Ha MPOIIEHTOB JICIIEBIIE. 3.
9.
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 0

6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.

7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.

8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.

9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?

10) B mporwioMm rofy JuieH3us Ha prIOHYIO JI0BI0 cTomna 50. B aToMm roxy nunensus Oyaer
ctouTh 30 nomapoB. ITO yMEHBIIEHHUE Ha IIPOLICHTOB.
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